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QUESTION 1

In which scenario is "Use Accelerator" unavailable in a backup policy? 

A. for VMware virtual machines with a Linux guest OS 

B. for virtual machines hosted on a Hyper-V Host using WMI 

C. for a NetApp NDMP filer 

D. for an Exchange database availability group (DAG) 

Correct Answer: D 

 

QUESTION 2

An administrator observes intermittent connectivity issues between the appliance and clients. 

Which NetBackup Appliance Shell Menu (CLISH) command can the administrator use to assist in diagnosing the
problem? 

A. Main_Menu > Support > DataCollect 

B. Main_Menu > Support > NBDNA 

C. Main_Menu > Support > iostat 

D. Main_Menu > Network > Show Status 

Correct Answer: A 

 

QUESTION 3

Which storage unit group selection causes NetBackup to choose the least recently selected storage unit in the list as
each new job is started? 

A. Prioritized 

B. Failover 

C. Round Robin 

D. Media Server Load Balancing 

Correct Answer: C 

 

QUESTION 4

An administrator creates a Storage Lifecycle Policy (SLP) to take advantage of optimized duplication. The backup and
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subsequent duplication jobs launch as configured in the SLP. 

What may cause the secondary duplication job to run as non-optimized? 

A. Optimized duplication requires the media servers to be configured as Fibre Transport media servers. 

B. Optimized duplication is unsupported when a storage unit group is the target of the duplication. 

C. Both compression and encryption attributes are disabled in the backup policy. 

D. Both source and destination storage servers have only one media server in common. 

Correct Answer: A 

 

QUESTION 5

Refer to the exhibit. 

A backup policy uses a Full backup schedule with a schedule type of Frequency: 1 days. The start window 

for the schedule is configured as shown in the exhibit: 

The administrator runs a manual backup at 10:00 on Thursday. 

When will the next backup run, if all prior backups completed successfully? 

A. Friday at 2:00 

B. Friday at 10:00 

C. Monday at 2:00 D. Monday at 1:00 

Correct Answer: A 
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